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QUESTION 1

Where may functional testing be performed?

A. At system and acceptance testing levels only.
B. At all test levels.

C. At all levels above integration testing.

D. At the acceptance testing level only.

Correct Answer: B

QUESTION 2

With which of the following categories is a test comparator tool USUALLY associated?
A. Tool support for performance and monitoring.

B. Tool support for static testing.

C. Tool support for test execution and logging.

D. Tool support for the management of testing and tests.

Correct Answer: C

QUESTION 3

Which of the following is a benefit of test independence?

A. It does not require familiarity with the code.

B. It is cheaper than using developers to test their own code.
C. It avoids author bias in defining effective tests.

D. Testers are better at finding defects than developers.

Correct Answer: C

QUESTION 4
Which of the types of defects that are displayed in the exhibit use case testing MOST LIKELY to uncover?
Defects in the process flow during real-world use of the system.

Defects in the interface parameters in integration testing.
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Integration defects caused by the interaction and interference of different components.

Defects in the system as it transitions between one state and another.
B. i, iii.

C. iii, iv.

D.i,ii

Correct Answer: B

QUESTION 5

What determines the level of risk?

A. The cost of dealing with an adverse event if it occurs.

B. The probability that an adverse event will occur.

C. The amount of testing planned before release of a system.

D. The likelihood of an adverse event and the impact of the event.

Correct Answer: D
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